A hollow aluminum cylinder 20.0 cm deep has an internal capacity of 2.000 L at 20.0°C. It is completely filled with turpentine and then slowly warmed to 80.0°C. (a) How much turpentine overflows? (b) If the cylinder is then cooled back to 20.0°C, how far below the cylinder’s rim does the turpentine’s surface recede?
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AV= 994cm’ overflows.
(5 The whole new volume of turpentine is

2000 em® +9.00x107#°C (2000 em®)(60.0°C) = 2108 cm®

994 cm’®
2108 cm’®

and this fraction of the cylinder’s depth will be empty upon cooling:

71x107

so the fraction lost is

471x107(200 cm)= 0943 em





